| Efficiency vs Dxy |

P
X

=0.18
>
20.16
&
50.14

=

T S e S S e
ok b
0)(0):{ =PRSS S RSN —
0.06f
0.04
0.02

0.2

0955151

10 15 20
TP dxy (cm)

570 5

| fake+duplicates vs dxy |

1_

o o
o) fos!
I I

=
~
[

fake+duplicates rate vs dxy

0.2

....................................................................

.....................................................................

09 i e b B

10 15 20
track dxy (cm)

| Efficiency vs Dz |

efficiency vs dz

t:gngl Yb&éndlveuw 1660evt
C
C
—C

:%gg %%%ié%ﬁ +%%QF€5[JTL|ER4 1000evt

0.8

0.7

0.6

0.5

0.4

0.3

..................................................................

...........................

f 11 1 1 + 11 i’ .ldj 1 11 1 i 11 1 1
]__— ---------- E~----u-4 E . B O AR
-30 -20 10 20 30

TP dz (cm)

o o
o) o
I I

=
~
[

fake+duplicates rate vs dz

0.2

T T

.....................................................................

1020 30
track dz (cm)



	Contents
	Page 1


